Practise

Basic Facts No 16 (Stage 7 ) Strategy: Exponents 2
V4= V2= V2=
V81 = V25 = V25 =
V2= V16 = V49 =
V64 = V49 = V36 =
V36 = V64 = V81 =
V49 = V16 = V100 =
V25 = V25 = V49 =
V16 = V36 = V64 =
V36 = V81 = V36 =
V81 = V100 = V64 =
V2= V2= V2=
V100 = V36 = V100 =
V9= V49 = V25 =
V4= V64 = V49 =

Suggestion to help at home:

The square root of a number is a value that, when muitiplied by itself, gives the number.

Example: 4 x 4 = 16, so a square root of 16 is 4.

The symbol is v

Another example: V36 = 6 (because 6 x 6 = 36)




